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Section 2.3  Strings and Pulleys

1. Assume the desktop is frictionless. Compute the
acceleration of the system and the tension in the
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2. Assume that the coefficient of friction between the
desktop and the 120.0 kg block is 0.700. Compute the
acceleration of the system and the tension in the
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3. Assume that the coefficient of friction between the
desktop and the 120.0 kg block is a realistic 0.400.
Compute the acceleration of the system and the
tension in the string.
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4. What coefficient of friction would prevent the
system from moving? MC
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5. If the pulley wheel provides no friction, determine
the acceleration of the system and the tension

in the string.
7 m; = 110.0 kg
N m; = 85.0 kg

. S o

El " ¥ Mg Q = M.S“mt%

o [ﬂm (350)as Comfsse)-(155)02a)
. Q= 1,2¢ -v\‘s"

Absoods N\n:‘uﬂ Dote

Myl = ™G -Ms 9

(n,&m as M‘-mz

Midny A E

G z(m‘—-mL\ 5

6. Assuming that the tabletop is frietiontess determine
the acceleration of the system and the tension in the
two strings_se= 0. 160
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Homework: Page 202 1 (a)
Page 225 11 (a) and (b) for pictures (a) and (b), 12 - 14
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